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Math 100 - WORKSHEET 11
RELATED RATES

1. RELATED RATES

(1) (Final 2018)

(a) Particle A travels with a constant speed of 2 units
per minute on the x-axis starting at the point
(4,0) and moving away from the origin, while par-
ticle B travels with a constant speed of 1 unit per
minute on the y-axis starting at the point (0, 8)
and moving towards the origin. Find the rate of
change of the distance between the two particles
when the distance between the two particles is ex-
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(b) Same question, but swap the velocities of the par-
ticles (particle A moves along the y axis, particle
B moves along the z-axis).

g lotabion # A ok Fim $+ (4 -9
k-:) (042> ~n. p - 3(3;]‘) 8)

5 Ae (3t-9)%s (2-(-M)°

)
[}



(2) A closed rectangular box has sides of lengths 4, 5, 6em.
Suppose that the first and second sides are length-
ening by 22 while the third side is shortening by

cm
(a) How fast is the volume changing?
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(¢) How fast is the main diagonal changing?



(4) (CLP notes problem 3.2.2.14) The minute hand of
a clock is 10cm long; the hour hand of the clock is
bcm long. How fast is the distance between the tips
of the hands decreasing at 4 o’clock?
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